Macroeconomics

Instructor: Mark Tomass

Answer Key to Homework 11

Keynesian Analysis of Aggregate Purchases
1. Autonomous consumption is $800 billion.  MPC = 0.7 and MPS = 0.3.

2. C = $2900 billion when DI = $3000 billion                                                                   
C = $3600 billion when DI = $4000 billion                                                                   
C = $4300 billion when DI = $5000 billion                                                                   
C = $5000 billion when DI = $6000 billion 

3. The graph will be an upward sloping line.  Savings equal zero when DI = $2666.67 billion.

4. C = ($1000 billion + 0.7DI).  The consumption function line will shift upward parallel to itself because of the increase in autonomous consumption.

5. The increase in the marginal propensity to consume will make the consumption line steeper.

6. Changes in investment demand will result of changes in expectations about shifts in aggregate demand, input and product prices, and will result from changes in current capacity utilization and change in tax treatment of investment purchases and income.

7. An increase in the real rate of interest will move the economy upward along its investment demand curve causing a decrease in the equilibrium quantity of investment purchases.

8. Import purchases will decline because of the decrease in disposable income caused by the recession which will contribute to making net exports positive.

9. The aggregate purchases line will lie below the line corresponding to the sum of consumption, planned investment, and government purchases when net exports are negative.

